Spring '06 /MAT 140/ Worksheet 9  Name: ':)'EU““ Show all your work.

1. {Gpts) The table gives values of f and g for some x’s. Find the following:
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2. (4pts) The graph of a
function f is given. Use it
to find the graph of 71, la-
beling the relevant points.
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3. (opts) Let f(x) = R

a) Find f~(z).
b) Find the domain and range of f~1.
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4. (4pts) Use the basic graph of ¥ = € and transformations to help vou sketch the graph
of y = ™! — 2, Explain how you transform the original graph. Find all the asymptotes of

y=E:r.+1_2_

5. (4pts) The atmospheric pressure at a point & kilometers above sea level is given by
P(h) = 760e"%13" (pressure is measured in millimeters of mercury).

a) What is the pressure at height 4km?
b) At what height is pressure 7007 (Use graphing on your calculator to find the solution of

the appropriate equation).
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6. (8pts) Solve the equations:
5:52-9-4:5—19' — 95 231%7 = 152:{:—]—1
1
X +dy-lf —1 1 £ \ZK4
S = g™ (a")
v i dr=1t§=12 »J:"’“j_d 23’“4
3(11 4¢-11 =0
’ Uxr 7= 8+ T
(¥ +7)(x-3)=0 et
=y ey
Ke=ilpd

Xz

e i



